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SH2EE EH1-2
R2.4

el | FRER| 02 | o ow |eaan | e |eman|
HEE 110 110 3 19 29 51 |REE
sl 115 115 1 20 37 0 1 59 |R2IZERECELEFET
HE R 60 50 1 18 31 50 |IREBEE
BEZELE 120 85 0 34 42 0 15 91 [BBECELE
HEFN 165 155 2 27 51 0 73 153 [FRBECELE
FEFT 115 115 3 35 59 0 11 108 |BRECELE
=P 155 145 3 41 77 0 13 134 |BECELE
=ME— 135 135 4 44 75 0 3 126 [R2ICERECELEFEIT
=ME= 135 135 2 38 67 0 14 121 |R2IZEBECELEBIT
AL 105 105 1 25 51 0 2 79 [RAZBECELERIT
Hi-= 50 50 0 15 18 0 1 34 [R2ICEECELERIT
#HEH 105 75 4 22 36 0 3 65 |R2ICERECELEFET
manma 12 12 0 3 3 [R2MS/INRIER TR
it 1382 1287 24 341 573 0 136 1074
[r$7 2 19 28 0 2 51
R3.3 l

el | FRER| 02 | o ow |eman | e |eman|
H7EE 110 110 6 19 33 58 |REE
Eanles] 115 115 6 19 42 1 1 69 |R2ICERECELEFET
HE R 60 50 4 18 32 54 |1IREBEE
BCELE 120 85 2 28 45 6 13 94 [BBECELE
HEFN 165 155 4 27 52 5 72 160 [FRECELE
FEFT 115 115 9 37 59 3 13 121 |BBECELE
=P 155 145 10 40 75 2 16 143 |BRBECELE
=ME— 135 135 10 34 71 13 9 137 [R2ICERECELEFEIT
=ME= 135 135 10 33 65 4 17 129 |R2IZERECELEBIT
AL 105 105 1 22 51 6 7 87 |R2IZREZELEBIT
Ht=-C 50 50 0 14 16 1 4 35 |R2AICRECELERLIT
#HEH 105 75 13 23 38 2 5 81 |R2ACERECELRIET
manma 12 12 0 4 4 (R2HVS/INRIERBFR
it 1382 1287 75 318 579 43 157 1172
I 8 19 27 0 4 58
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